1

(SR N o=

0

s R R

T & & % HEE 9 %

i i = & A 5 HFE AR SEE M 1B TH (RHE R T SN2 JGB4F)

T % % Bt HEMNX F 9 A

T %= f Bl W)=

T F B = 828y—F@L) T V=1,0719m3 -#E%EBHIEMIT L=11.9m
- ¥4 T L=88.0m - H—FL—/LT L=61.8m
-LTUPERET 1=61.5m ‘AsEHEET  A=490.7m2
JEA—PIT A=498.5m2 ~HEAHE N=5Zk

R & B —& 70,950,000 M

" K H 4f 54 8 A2 3 H
R K MM oM 54 8 H2 3 Bdb
£f 64 3 A3 1 BET
im A X E
* BT EREERLEAF 1046 —9
e XA B H & B K
R X F 4 #H) [EKX
w & & 5 372311
BABRFIZRWTIRAEELREL-BH
(FEE RN H->TI RO F L &R EL-HEHR)
RN CHE AR EE REEEOPESFIRAEREDBELICE SE RO
HICRVEELE,
PR ERITHOF I, R OME FHIKRE
TEORKE
1 E DRI,
FHELTEORN
W T HEI K AR &
W= T i Tz oUW T O TR mE
EREHEDIRIM
FAFEHEDIR I

® Q06068 0 6



